BT TRIA O - HEHHEE X T ﬂﬁﬁkifﬁozﬁ KIRHE
- I:I - 3 I:I
BT T2 | MR T8 T = BT T2 | MR8 T =%
HRX 38,173 86,973 41520 45,453
RIRET1T 5 15 7 8
RIRET2T 24 52 24 28
RIRET3T 170 559 273 286
RIRET4T 391 980 482 498
B 590 1,606 786 820
REH 2,669 6,250 2,930 3,320
L&A 4,205 9,591 4,539 5,052
BE 2,536 6,009 2,917 3,092
B AN 1,244 2,850 1,327 1,523
BERT 1,189 1,860 871 989
BER2T 647 1,285 621 664
BHERST 394 904 449 455
g 2,230 4,049 1,941 2,108
BARE 253 653 329 324
= 2,196 5,271 2,490 2,781
hERE 621 1,460 670 790
e 2,372 5,209 2,512 2,697
25 L ET 2,237 5,174 2477 2,697
B &AL BT 76 161 65 96
HEFILET1T 574 1,242 580 662
HEFILET2T 621 1,383 655 728
HEZFILAT3T 600 1,411 693 718
g 1,871 4,197 1,993 2,204
B & it B Fr ET 677 1,652 793 859
BHEREBET1T 612 1,263 604 659
BHERERET2T 756 1,766 863 903
BHERERETST 751 1,641 743 898
HEFMHET4T 458 1,000 485 515
HEHFMHETST 803 1,650 791 859
HEHFHET6T 868 2,006 965 1,041
HEFRET7T 847 1,929 928 1,001
HERERETST 70 215 101 114
£t| 5165 11,470 5,480 5,990
HEF R FET 1,813 3,960 1,922 2,038
S|EFET1T 566 1,522 759 763
S|EFET2T 765 1,838 874 964
S|EFET3 T 706 1,413 666 747
g 2,037 4,773 2,299 2,474
ERE1T 554 1,329 632 697
EIRET2T 384 1,009 501 508
EREIST 470 1,322 644 678
EIRETAT 689 1,549 712 837
EIZEIST 468 978 492 486
g 2,565 6,187 2,981 3,206
MEH 2,780 6,384 3,030 3,354
J\THET1T 29 32 11 21
J\THET2T 25 64 31 33
J\THEI3T 58 132 62 70
B 112 228 104 124
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